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b a+ b

”h X 2a

[<r+ ab "l+ h+m

5
2ab )

5
] 2ab )

Biw , Zals_,  Lab/larE)
& \r\f\}B’/‘ cz:*'\r— - \f—% —‘“"Z%

Lot Lok ﬁo«@(br\@lf@d——)
a+ W’ bk (Chk (af ) (5T
M (er )@f@) a!%ﬁ(‘ +QJ_ +@g—

Z - S
OW@—ILZM =) O.+2Va8 1~
alal +Jlall ¢ Jak Jab- Ja otk ) .

— = =Y

T aai ardeF b =

ab rna=0nb=0
Priklad 4:
a'-p?
{.'h _

' h- 2a a° )

‘H_c H _h+h:!

Q- éﬁ (a% @/ow&"'} ~(a~f) o+ )(= 2 ¢2)

41__%_?:_\0.+@>/ 1_ a" @ Zaﬂ—,,.a (@_a‘f‘
s Q¥ ()_2, ,QJ"} =

XJ*'?"

DU -1.ro¢nik




(kY ort V)
au Mwmm
et (e (G )26

o (o; )

gy
A otk otk

a+b

sazbra=0nb=0

a—nh

Priklad 5:
6‘+|\\1_ __1'12J:.1'4—2,1":118.1‘—1(3:
XN . 4x
bx # (B?Z Xt ) T 2x~+8x-—/4

R ()r\ 23 ¢0 ?“"2-)

I A
= Gt é"’g{?‘fl) bx

,__/f’fb()« — 2 +4)
gﬁ%— Gr+ F2x+h= %T‘fﬁ?‘ 0@;2)2

—r

=

(x+2) Ax=0Ax=42

DU -1.roc¢nik




Priklad 6:
X2 +xy+y? - (x2+y2 x3—y3)

X x2y? T x24y2
x2axy+yt [:A'I-l-}-'z :3-}") _ xlaxy=y? x2yd _EE
¥ T\ x?y? Tx2ayl X (e=yNxZexy+y?)  E=y

Priklad 7:
6a+( a a ) 4a .

a-2 a+2/) a*-2a*+8a-16
i [l 4a a4 20—a?+2a a*(n=2)+8{n-=2) _
ba + (;r-z . n+2) Tt =20 <Bu-16 =ba+ (=20 42) 4z -
fala=-2)[a?+8 (a+2)a*=2a+1
bq + a@-DAai8) _ o), { ]=ﬂ2+4ﬂ+4={ﬂ+2)z:
diplo=2 1 a+2) a+2

Podm.:a = 0,a = +2
Priklad 8:
a®—ab?+b? b ] laz-zamzbz b

(a-b)3 a-bll a?—-ab+b? al
[a’-aulq-u’ b ”a?-zau*zu-’ bl
(a=p)* a=b|| at=gp+p? al =

al=ab?4b'=bla’ =2ab+b?) a®=2a?b+2ab?-n?b+ab? -ph?

(=i} (af=ab+b?)a

a? =abd = =a* b+ labi =" a*=3a*b+Iabi=b'

(a=0b)2 " {a?=ab+b?)a
_ at=girt=a*h (ca=0b)* -1
(a=b" “a*sabl=a’h !

Podm.a=0,a=b

DU -1.ro¢nik




Priklad 9:

X Xy X2 +xy+y2
,}"2—1 I'(—x_x): =
- W _ y

- 2 2
X X¥ LT EYEY
’F2_1+ r_( _x) —=

y—x ¥ _ ¥
_ [vz _ xly-x) x? ] y_o_ ¥yt oy
L ¥y y-xl xFray+yt ¥ O xT+xy+)y?

B sl
- Xraxy+y® -

y=x

Priklad 10:

— Ozy + 1-’-13,;2 -

Zjednoduste wyraz: Z_zy—2p
af=gxy+14y® _ (x=Ty)x=2y) _ =Ty
xi=xp=2y2 (x=Zy)(x+¥) x4y

Podm.:x £ =y, x # 2y

Priklad 11:

Reste v R:

(22 + 2z — 3)(z2+2z+1)—5=0

(2 +2x—=3)(x*+2x+1)-5=0 Subst.: x* +2x—3=a
ala+4)—-5=0 2+2x+1=a+4
a‘+4a-5=0 g
(a+5)a=1)=0
a==hva=1

1. x*+2x=3=-=5 2. x*+2xr=3=1
x5 42x+2=10 ¥ +2xr—4=0
D=4-8=-4<0 Xy == 1445
K,=0 K, =[-1++5]

K = K, UK, = [F1E£5};

DU -1.ro¢nik n
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